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Equivalent Expressions

Which of the following expressions is EE 01
equal to O for some value of k ?

A)lk+1|+1
B) |[k—1|+1
Q) lk+1]-1
D)|k—1|+1

— e — —

2(7x+ 2)(2x + 2) EE 02
Which of the following is equivalent to
the expression above?

[=]
A[m]

A) 72x

B) 28x2 + 8

C) 28x% + 36x + 8
D) 18x2 + 8

E.

(
(
(
(

Which of the following is equivalent to EE 03
the sum of the expressions ".|!-_'.;.
b>+3 and b—37? -

A) 2b?
B) b3
C) b2+ b
D) b3 -3
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Which of the following is equivalent
)2
~(£)) ?
to (k (3)) :

2_J%
(A)k—3

2_J?
(B) k*-=

(© k2= 4L
3 3

i2
(D) k2-25 4 L
3 9

G

" N+G

A playing card factory uses the formula
above to calculate manufacturing efficiency,
B, based on the number of cards made, G, E
and the amount of wasted card material, N.

Which of the following expresses the number
of cards made in terms of the other variables?

(A) G ==
(8) 6 = —
(06 =—
(D) G =—



. 6x+5 . .
The expression el equivalent to

which of the following?

(A) is

()6+—
(C) 6-—

x+3

(D) 6-—

x+3

a+7
a-7

If

= 12, whatis the value of a ?

The line y = mx - 3 where m isa
constant, is graphed in the xy-plane.
If the line contains the point (i, j),
where i # 0 and j # 0, what is the
slope of the lineinterms of i and j ?

-
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(A)
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10.

11.

If % = %, which of the following must

also be true?

(A) 2=~
(B) %=1
(==
(D)2 =~

Which of the following is equivalent
3x%+ 8x )
3x +5

(A) x
B)x + 3

5
(C) X - 3x+5

5
(D)x+1 g

A contractor uses the formula t = 15wl
to estimate the number of tiles, t, needed
to tile aroom thatis w feet wide and

[ meters long. Which of the following
expresses w intermsof tand [?

A w ==
B)w =—
mnv=§z
([))LV = 15+1

EE 09
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12.

13.

14.

At a chili convention, Rodrigo ate p chili EE 12
samples each hour for 3 hours, and Kary E E
ate g chili samples each hour for 4 hours.
Which of the following represents the total
number of chili samples eaten by Rodrigo E
and Kary at the chili convention?

(A) 7pq
(B) 12pq
(C) 3p + 4q
(D) 4p + 3q

16x* + 24x%y% + 9y* EE13
Which of the following is equivalent to E'-I E
the expression shown above? S

A) (4x + 3)* [m]%

B) (4x% + 3y?)?
C) (16x% + 9y?)?
D) (16x + 9y)*

— e —

An investment compounds annually at a EE 14
rate of 7%. If the initial investment E
was $137, which of the following functions
f models the value of the investment
after t years?

A) £(t) = 137(1.07)¢
B) £(t) = 137(0.93)¢
C) f(t) = 1.07(137)¢
D) f(t) = 0.93(137)t

— e —



15.

16.

5
Which of the following is equal to k7, EE 15
for all values of k?

1

(A) A k7
(B) Vk7

1

(©) K
(D) VK5

. EE 16
A phone store got three times more
customers on the launch day of a new E
phone than the following day. If the =1

phone store had 300 customers on .
launch day, and k customers the following E
day, which of the following expressions is true?

(A) 300k = 3
(B) 3k = 300

(C)§= 300
(D) k + 300 = 3



